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Write a short note on (any two) of the following:

(a) Crowding out

(b) Use of Private Savings

(c) Quantity Theory oi Money (7 .5,7 .5)
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. (a) Explain the components of current account of
balance of Payments.

(b) Differentiate between intermediate and final
goods. Under which category, are "Capital Goods"

included?

(c) What is GDP deflator? How is it different from

cPr? (s,5,5)

(tr) 5.rflT {-Efli + qq €rt + qz-+1 6 qrqr otr

(E) rq{S *r $fr{ sS* + ffs s-d{ oir 'dfrce
{q(' ffffi *fr + IIIB-d t?

(q) GDP Rr< qr t? qr cPt t *t wrr *?

2. (a) Explain how equilibrium is determined in the money

market. What happens to the equilibrium rate of
interest in the following situations? Use suitable

diagram.

(i) Increase in nominal income

(ii) Increase in moneY suPPlY

' (ii) LM T6 + Rs {fio.tsr Etl.q dfur
(iii) iflrc ak qrfr Et * t'qil{ F( wr *?

(t) raw {n ftfrq A} d ffi t an l?
(a) Explain the role of multiplier in determining.the

slope of IS curve. Using IS-LM analysis explain
' how does an increase in autonomous spending

affect the equilibrium level of income.

(b) Explain the concept of national wealth. Compute

savings for an economy which has the following
data:

Investment 30O

Exports 100

Imports 80

Factor payments received from rest of the world 90

Factors payments made to the rest of the world 70

(c) Assume that the demand for real money balance

is M/P : Y[0.3 - i] where i is nominal interest

rate and Y is income. Calculate seigniorage if the

rate of growth of nominal money is 1570, Income
(Y):2000, real interest rate is 5olo and expected

inflation rate is 7%o. (7,5,3)

(er) ariw s-fi * Edr< d ffrikd t.,A t ym 6 $or
6 qrsr qtr qr{s{-cFlcr Mwr qr sqftr q'',d

Es lqlr s,l fr'rcf{fr q{ { & wc + (.Eil{R{
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t = 0.25

I = 900-50i

C=SOO
L = 0.25Y -62.5i

(M/F) = soo

(i) Derive the equation for the IS curve.

(ii) Derive the equation for the LM curve.

(iii) What are the equilibrium levels of income
and the interest rate?

(c) Under what condition the LM curve be horizontal?
(7,s,3)

1W; ant rc{q g ilc rFlr {qrd E: c6' i[Tq{rsr T, (gil{
3-flrfi ifti qllr Er rn frR frrrq * yrni q,r qoi{

otr

(s) cr H gv fr co' ir{fu{qr t
c = 0.8 (l-t) Y

r = 0.25

I = 900-50i

G =too
L : 0.25Y -62.5i

(M/P) = soo

(i) IS Tfi + frs <ft+.l"r gw dPwr

(b) The following financial market data is given for
an economy (in rupees) :

Currency = 2000; Reserves = 400; Deposits = 4000.

. (i) Calculate size of money multiplier

1ii) Monetary Base

(iii) Money Supply

(c) "Change in money supply affects the price level",
Explain. (5,5,5 )

(w) trew fr 5rr.."o t <-gd-{ 4} frtrffu frqr vnr
*r ffike ffi t qrq fr c-Eil{ Er q'r Rr tt{r
*i scgffi ufr€ ot c+rr 6tr

(i) qr{{r{ srq t Etr
(ii) Tcr 

"rTffi 
+ ytr

(e) ftq66a ffiq qqr ta w u{ee{qr + frs eqr
rnr * (wi i):

{CI = 2000; rlgR = 400; V.|J = 4O0O I

(i) ffi Wm * smn d qq.a 61

(ii) +8o' ilrqR

(iii) $r d n$
(() "T{r fffi + cRil+{ *{d Kr + curFd q'c<r *',,

anqr dfugr

(a) What. are the social costs of expected and
unexpected inflation?
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(b) Differentiate between "Orthodox" and "Heterodox"'

stabilization programs adopted during
hyperinflation.

(c) "The Inflation Tax is always equal to seigniorage"

Comment and justify your answer. (5,5,5)

(ir) atBm ft slretFra g{rdfr * rmflft-.6'Fmlit iFII

t?

(e) gnvrtdm + Etnr irFug rlg 'mqt$-ff' *t
,.tt+d-fl' ftntq,{ul 6r+*ii t {-q rm otr

(r) "g*rSR 6'{ Ehr ffiq + qr+t *tr *'M
dfrs d( sc+ Tf,( er Sfue fffrqt

4. (a) How is the labour demand curve derived under

classical model?

(6) Explain the determination of equilibrium level of
output, employment and the real wage in the

classical system. (7.5,7.5 )

(r) nrdr riiea * €( 8rc qrrr qfi dit sr< fr'lt urifi
*?

(c) vrdc cqr& i vflrfi, i-fr{R ft qrwEa, q-m(ft *
rgr<Kr+fftfurdqrsrqir

5. (a) Examine the impacl of an expansionary fiscal
policy on outpui and interest rate under two

ass u mpli ons

(i) Interest rates are kept constant

(ii) Money stock is kept constant

(b) State whether the following $tatements are True

or False. Give reasons for your answer.

. (i) A rax cut always increases the GDP of
the country

(ii) It the government follows the policy of
a balanced budget thai is change in G:
change in T, there will be no change in
budget surplus. (7,8)

(er) i uram* * rra stqrr< *t qro < vt fuarErfi
rrd-+}frc fffr * vqn fr vrq oi:
(i) qru d RR {6 qrft *
(ii) Tfr d+, frn rer mil *

(q) q-drs fr ffikt 6q{t-& t qr rma ir eiqisat
* qr<ur q-drgr

(i) 61 6et& Eirn t$ d fi$fr d q-drfr *
(ii) qe tr.6n yfi t-gfu a-o-c d ffi qr cro-<

q,tt t fr c t cR{d-{ = r + qMr*, *
q-src striq I +{ cRil+{ q& *mr

(a) What do you understand by Policy mix? In an

economy, illustrate the effects of a policy mix on

equilibrium output and interest rate.

(b) Given that in an economy

c = 0.8 (l-t) Y
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